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Q.1(A) State probablhty mass functlon of Nagative Binomial Distribution. (04)

State its properties.

(B) Find the probability that income tax official will catch 3 income tax (05)

returns with illegitimate deductions if he randomly selects 5 returns
from among 12 returns of which 6 contains illegitimate deductions,

G

(C) Card are drawn one after the other with replacement from a pack of (06)

52 cards. Find the probability of getting a king for the first time at the
7" attempt.

OR
Q.1 (A) Give properties of Hyper Geometric distribution.

(04)

(B) A die is thrown. Find the probability of getting number 5 for the first (05)

time at the fourth attempt. Also find mean and variance of number of
failures before getting 5 for the first time.

(C) For a Negative binomial distribution, meai is 6 and variance is 12, (06)

find its parameters.

Q.2 (A) Explain Dominance property in Game theory.

(07)

(B) There are seven jobs, each of which has to go through the machines A (08)

and B in the order AB. Processing times in hours are given as.

)

Job 1 2 3 4 "5 6 7

4 Machine A 3 12 15 6 10 11 9

Machine B 8 10 10 6 12 1 3

Determine a sequence of these jobs that will minimize the total time
T, also find idle time for machine A and B.

@

OR (?To)




Q.2 (A) | Explain Processing of n jobs through two machine in sequencing (07)
problem.

(B) Solve the following game problem. (08)

Player — B

Player— A3 —~6 4

6 7 =7

98—7]

Q.3 (A) What is demography? Give uses of demographic statistics. (07)

(B) From the following data, find the crude and standardised death rates (08)
: of two cities and compare them.

Age City A City Y
(in years) | Population | Number of | Population | Number of
deaths o deaths
0-10 6000 180 4000 160
10-20 10000 50 15000 60
20-60 30000 240 24000 240
Above 60 4000 200 7000 210
OR
Q.3 (A) Explain any two methods of collecting demographic statistics. 07)

(B) From the following data about a city of total population 3 lakhs, (08)
calculate CBR, GFR, SFR, and TFR.

Age groups (in
years)
No. of females | 16000 | 15000 | 14000 | 13000 | 12000 | 11000 | 9000

15-19 | 20-24 | 25-29 | 30-34 | 35-39 | 40-44 | 45-49

No.oflive | 400 1 1710 | 2100 | 1430 | 960 | 330 | 36
births _ :
Q.4 (A) Explain single sampling Plan (N, n, ¢) (04)

(B) For a single sampling plan (1000, 50, 1) find producer’s risk and (05)
consumer’s risk when AQL=0.04 and LTPD = 0.08.

(e>=0.135, e™ =0.0183)

(C) Find the value of AOQ and ATI when P' =0.5% from single sampling (06)
plan (8000, 400, 1) (¢ =0.1353)

©,



OR

Q.4 (A) Define : | 04)
(1)  AQL
(2) LTPD
(3) ASN
(4) ATI
(B)  Which plan is better with respect to producer? Give your answer with (‘06)

(©)

necessary calculations.

' Plan-I (2000,100,2)  AQL = 1% (e'=0.368)
Plan-ll . (100, 10, 0) AQL = 1%
Draw O.C curve for a single sampling plan (50, 10, 0) : (05)
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QI(A) #u Ryl zicuan Ravag deuart gzc Ras da d el eud, (04)

(B) s wiasdRl 251 WA 12 2nasda A4 (Jla) B, Bui-n 6 AswmBar suid (05)
o aud 8. 30 12 2nasdR1 Res uidll A 5 Rés elios A wais 53 6, dl Ani 3

-

wnasdRL 58 AL SULAUL ussia AL Aeua- 6l

(€) el 25 %3 uie 25 wedl 21 YRl AR ug Waqwi 20 B, db uam wa (06)
VA Abid AL UL A1 g ).

| OR
Q.1 (A) 2 3wz Razei amanl onuel. | (04)

(B) s wiusl Geornal 2l waed uAn avd 5 wh A Aenan Andl, uaw aud 5 (05)
WL d 2ouG- Frgtn naeti divard weas w1 Bare dad),

(C) 0 [Gudl Ramui veus 21 R 2146 6 249 12 dud) A Wl 96, (06) .

Q2(A) 2Wd-u Reaiani Sl Rithin unond. | - ©7)
C(B) i sl sua A wallt A 217 B 6u 54 AB i e 8. 2 51l s2a1) uma (08)
seusal N2 woro 69,
s 1 2 3 4 5 6 7
dst A 3 12 15 1 6 10 11 9
4 B 8 10 10 6 | 12 1 3
2 sl Hdl 4 58l 52 3 Rell sa ANY Ysian A, dgBuRid dA-A 2

dA—B -l 4421 (Slore) Ana A4,
OR

Q2(A) suarll uurmi n sl & dx v darn W3a QA wuondl. (07)

(7.7.0.)
@




(B) DA 2ma-l 63a A, (08)
vad -B
9 8 =7
Wafl-A |3 —6 4
_ 6 7 =7
Q.3(A) axdl [Bnus ¢issidl 2] Aol A4 AL Guaio o, (07)

B) 030 uRA urell A 1d2 A 23 B A wel HeUER il Ui YAER WAL A (08)

dud usial,
BuR A A Y _
(adni) el saycy el 4 Uy
0-10 6000 180 4000 160
10-20 10000 50 15000 60
20-60 30000 240 24000 240
Above 60 4000 200 7000 210
~ OR
Q.3 (A) ardl [Amas 2iss xslRa sl 93l d A Dl axl 421, (07)
(B) 3 amdl axdl 41adl s ada-l QA wRA wel CBR, GFR, SFR, ¥ (08)
TFR 2i€l.
GuR (adwi) | 15-19 | 20-24 | 25-29 | 30-34 | 35-39 | 40-44 | 45-49
ol Qv | 16000 | 15000 | 14000 13000 | 12000 | 11000 | 9000
el %B-Hen - |
gl 2ival 400 | 1710 | 2100 143..0; 960 330 36
Q.4 (A) s Reslulg-n (N, n, ¢) auondl. (04)

(B) s el wlw-u (1000, 50, 1) 2 AQL=0.04 1 LTPD = 0.08 €l, 4\ (05)
Bewle s ivin wA Al s Friam A,

(e*=0.135, ¢*=0.0183)

(C) s [elz dlw-u (8000, 400, 1) 2 oA P' =0.5% &la di AOQ it ATI o (06)
yeu Al (e =0.1353)

OR

G



Q.4 (A) syl

(B)

©)

(04)
(1) AQL
2) LTPD
(3) ASN
4) ATI
Gewrg sl sRead DA WA 56 dlor-u 2] oguu? owiadl 593 et 1, (06)
diogrit-] (2000, 100,2)  AQL=1% (e =0.368)
oy 1-IT (100, 10, 0) AQL = 1%
2 [edlq diogi (50, 10, 0) w2 OC as €3, (05)
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